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	Gabarito Lista 1: Conversão de Base

	1)

a) 98

b) 60

c) 1062

d) 2757

e) 2253

f) 3921

g) 1023

h) 174

i) 134934

j) 310812

k) 1051155

l) 651282


	2)

a) 1100100001000

b) 11000001001000

c) 111010001000

d) 10011001001000

e) 11010001110

f) 1000101100000

g) 10001000111100110

h) 10011101111100

i) 11110001101100010010

j) 1010101000110100

k) 110110011001111100010110

l) 11000111100000010100


	3)

a) 513

b) 1750

c) 200

d) 377

e) 14

f) 116

g) 2167

h) 734

i) 1662426

j) 3136426

k) 76555023

l) 435741



	4)

a) 4E5

b) 333

c) 75BD

d) 640

e) F42

f) 739

g) 13E2

h) 14A

i) 723

j) 11D9

k) 1B8

l) 1FBE


	5)

a) 40707

b) 342418

c) 10010110011

d) 6631

e) 66535

f) 1131

g) 333231

h) 1001111101

i) 3CC74

j) 366

k) 1001000010


	l) 1011111011

m) 4DB1

n) 100011

o) 100100010

p) 1010

q) 11011

r) 111A

s) 1010100110110110000011

t) 13664

u) 1014

v) 264

w) 10101100110001100110




